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Which is equivalent to 4x — x + 7y — 2y?
LA o

lftﬁ_:‘ 9xy

(C 1 + -

S T—y P

4 2, S + DY

o) ilaglaa —5

Gl Ja

: Jpad) ciliilian) —6

Lisal) 4l
A5l B gial
)AAA

RO

ki




(M042301A-M02_07A) &l Jisead) -1
1 Vpd) A0 -2
i) B Jfped) -3

Agla)all W3
O Uadl 5 asy ale sUal Jsaall pem sy clalind Dldia  alien Sl 3 OAS

RE PSP VS
sdsaadl 8 clad dl Sl L

L"""}; &.'j;u"‘ S sas e3EY aas

TYAL XY i} Y

M042301 A

daaall <bilay)

dasaa Al 08
2 2 4

3 3 5
4 4 6

dazall 4 cllay)

bardiuag dayaia b @Al clila) 79

52



4 alady) AUl S —4

Interior Angles
Jackson was investigating the properties of polygons. Jackson made up the table
below to see if he could find a connection between sides and angles.
A. Complete the table by filling in the blank spaces.
Sum of
Number of Number of .
Polygon .. . Interior
. Sides Iriangles
Angles
‘ o B
. X 13()0
. x 180°
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Code | Response Item: M042301A
Correct Response

10 | All entries correct
)
5 3

6 4 4

LS T ]

Incorrect Response
79 | Incorrect (including crossed out, crased, stray marks, illegible, or off task)

Nonresponse

99 | Blank
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B. Put the correct number into the box.

The sum of the interior angles of a polygon with 10 sides x 180°
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Code Response Item: M042301B

Correct Response

10 | 8
‘ Incorrect Response

79 | Incorrect (including crossed out, erased, stray marks, illegible, or off task)
‘ Nonresponse

99 | Blank
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Joe knows that a pen costs 1 zed more than a pencil.
His friend bought 2 pens and 3 pencils for 17 zeds.

How many zeds will Joe need to buy 1 pen and 2 pencils?

Show your work.
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Code | Response Item: M042263
‘ Correct Response

10 | 10 zeds and equation(s) shown. Equations should involve the use of letter(s) as variable(s), e.g.,
2v+3x=17.
¥+ 3x

11 | 10 zeds and other work shown, e.g., pen = pencil + 1

] Incorrect Response

70 | 10 zeds, no work shown

79 | Incorrect (including crossed out, erased, stray marks, illegible, or off task)

‘ Nonresponse

99 | Blank
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